IINTSO EDUCATION

GENERAL KNOWLEDGE TALENT SEARCH OLYMPIAD(GTSO) 2015 - 2016

INTSQOs
STAGE - 1 TIME : 60 min.
CLASS : X Max. Marks : 50
Instructions:
= Fill the OMR sheet completely and carefully.
5 Each question carries one mark and has only one correct answer. No negative marks
= The question paper contains 50 questions to be answered in 60 minutes.

1.  Which committee was appionted in 1946 allotted seats to each province and princely state or

group of states in the formation of the Constituent Assembly ? [ ]
1) Cabinet Mission 2) Mountbatten Committee
3) Cripps Mission 4) Azad Committee

2. Which is the least literate Union Territory in India ? [ ]
1) Lakshadweep 2) D.N. H
3) Andaman Nicobar islands 4) Chandigarh

3. A war between India and Pakistan to liberate Bangladesh was started in [ ]
1) 1948 2) 1965 3) 1971 4) 1999

4.  Arrange the following events on chronological order based on their period of occurrence
a) Home rule league was launched by Tilak
b) Rowlatt Bill was passed
¢) Mahatma Gandhi arrived to India from South Africa
d) Jallianwala Bagh incident took place.

Which is the correct set ? [ 1
I)c,a,b,d 2)a, b, c,d 3)d,c,b,a 4)b,c,d,a

5. Which of the following was not a cause for Human Rights Movements in U.S.S.R ? [ ]
1) Government did not allow free multi - party elections.
2) Government did not allow free uncensored press or media.
3) Government did not allow freedom of expression or movement
4) Liberty is granted to all the people.

6.  The present Secretary - General of UNO " Ban Ki Moon" belongs to [ ]
1) Serbia 2) South Korea 3) North Korea 4) Ghana
7. Which of the following is not the characteristic feature of federalism ? [ ]

1) The existence of a central polity and subsidiary polities side by side.
2) Power is shared between Central and States.

3) Centre and states endowed with sovereign powers

4) Supremacy of the central polity

8.  The census held in 2011 was the census of [ ]
1) 11™ census in India 2) 7" census in Independent India
3) 15" census in Independent India 4) 16™ census in India

9.  The Official Languages Act was passed in [ ]
1) 1964 2) 1965 3) 1962 4) 1963
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10.

1.

12.

13.

14.

15.

16.

Subhash Chandra Bose was elected as Congress President in the year [
1) 1939 2) 1938 3) 1936 4) 1940

Which of the following are the effects of global warming ? [
1) The melting of Polar Ice Caps

ii) Erratic rain fall

iii) Water level of Conditions Oceans and Seas will rise
iv) It shows great impact on agriculture

1)1, ii and iii 2)ii, iii and iv 3)1i,iiand iv 4) 1, ii, iii and iv
The present Chairman of ISRO is [
1) P. L. Punia 2) Radha Krishna 3) A. S. Kiran Kumar 4) Deepak Gupta

Match the Rivers (I, II, III, IV) with their projects given below.

II - Tapti River
III-Mahanadi River,

\\ IV-Bhadra River

n‘ b 880
. Semey,

=
%
o

a) Tehri dam b) Hiracud dam c¢) Ukai dam d) Bhadra project
Which is the correct set ? [
DI-a,II-b,II-cIV-d 2)I-d,II-¢c,II-b,IV-a
3)I-a,Il-¢c,II-b,IV-d 4)I-b,11-a,1I-c,IV-d

Regarding the President of Indian Union which is incorrect ? [
1) He is the head of the state 2) He represents the nation

3) He is the executive head of the state 4) He is the symbol of the nation

As per2001 census, the literacy rate of India is [
1) 66. 38 % 2) 64.84 % 3) 66.67 % 4) 74.04 %
Arrange the following incidents in correct chronological order [
1) Ram Janmabhoomi Rath Yatra. i1) Demolition of Babri Masjid

ii1) Operation Blue Star iv) Formation of Janta Dal government
1)1, 1i, iv and iii 2)1ii, iii and 1 3)iii, iv, i and ii 4)1, i, iii and iv
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18.
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24.

25.

Consider the following events during india's Freedom Struggle . [ ]
a) Chauri - Chaura outrage

b) Minto - Morley Reforms

¢) Dandi March

d) Montage - Chelmsford reforms.

Which one of the following is the correct chronolgical order of events given below.
I)a,c,b,d 2)b,d, a, c 3)a,d, b, c 4)b,c,a,d

Which of the following are not correct regarding Washington March in 1963 ? [ ]
1) More than 2 lakh people marched there.

i1) Women were allowed to speak in the march.

iii) Martin Luther's historic speech ' [ have a dream, was delivered here

iv) Martin Luther demanded separate nation for blacks

1)iandii 2)iii and iv 3) ii and iii 4)ii and iv

The present Director of CBI is [ ]
1) Dineshwar Sharma 2) Anil Kumar Sinha

3) Sharad Kumar 4) Rajindra Khanna

Match the lakes (i, i, iii, iv) with their respective states given below.

1) Lakhota Lake a)  Jammu and Kashmir

i)  Wular lake b)  Manipur

iii)  Ulsoor lake c¢)  Karnataka

iv)  Loktak lake d) Gujarat

Which is the correct set ? [ ]
1)i-d,ii-c,iii-b,iv-a 2)i-a,ii-b,iii-c,iv-d
3)i-d,ii-a,iii-c,iv-b 4)i-b,ii-c,iii-a,iv-d

Who said the Constituent Assembly representes “ the nation on a move throwing away the shell of
its past political and possibly social structure and fashioning for itself a new garment in its own

making”? [ |
1) B.R. Ambedkar 2) Jawaharlal Nehru

3) D.S. Seth 4) S.C. Banerjee

The largest proportion of Indian population is found in the age group of [ ]
1) 0 — 15 years 2) 15— 59 years 3) 59 years above 4) 65 years above

The Prime Minister , who negotiated with IMF in 1992 for loans to come out of economical crises
was [ |
1) P.V. Narasimha Rao 2) Manmohan Singh  3) V.P. Singh 4) Rajiv Gandhi
Consider the following statements about the Indian National Congress. [ ]

a) Sarojini Naidu was the first woman to be the president of the Congress.

b) C. R. Das was in prison when he functioned as the president of the Congress.

c¢) The first Britisher to become the president of the Congress was also A. O. Hume .
d) Alfred Webb was the President of the Congress in 1894.

Which of these statements are correct ?

1)a,c 2)b,d 3)b,c,d 4)a,b,c,d

Greenpeace Movement initially started as a protest against the American underwater nuclear tests
near [ ]
1) Alaska 2) New York 3) Washington 4) Los Angel
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26.

Arrange the following mountain ranges from West to East [ ]
1) Jaintia hills i1) Naga hills iii) Garo hills iv) Khasi hills
1)iv,ii,iandii 2)iii, i, iv and ii 3)iii, iv, 1 and ii 3)1i, ii, iii and iv

27. Consider the following features of a place.
i) This place is located at 24°34' N Latitude.
i1) This place is located at the altitude of 1461 mts.
ii1) This place receives the annual rainfall of 225.3 cms
iv) The temperature of this place varies between 9.8°C and 20.9°C
Find out the place with the above features [ ]
1) Delhi 2) Shillong 3) Leh 4) Jodhpur
28. The second major event in the life of Indian Constitution has been a Supreme Court judgement
popularly known as [ ]
1) Keshavananda Bharati case 2) H.J.Kania case
3) M. Patanjali Sastri case 4) Sudhi Ranjan Das case
29.  Which of the following statements is true ? [ ]
a) Kerala has the highest literacy rate in India
b) All the four southern Stares - A. P, Karnataka, Tamil Nadu and Kerala have achieved the
literacy target of 80 %.
1) aonly 2) b only 3) Both aand b 4) neither 'a' nor 'b'.
30. Match the Indian Prime Ministers with their programmes. [ ]
1) Jawaharlal Nehru a) Liberalisation policy
i) Indira Gandhi b) Nationalisation of banks
iii) V.P. Singh c) Five year plans
iv) P. V. Narasimha Rao d) Implementation of OBC reservations
I)i-a,ii-d,iii-b,iv-c 2)i-d,ii-b,iii-a,iv-c
3)i-b,ii-d,iii-b,iv-a 4)i-c,ii-b,iii-d,iv-a
31. Consider the following statements. Choose the correct alternative accordingly. [ ]
Assertion (A) : The basic weakness of the early nationalist movements lay in their narrow
social base.
Reason (R) : It fought for the narrow interests of the social groups which joined it .
1) Both Aand R are true, and R is the correct explanation of A.
2) Both A and R are true, but R is not a correct explanation of A.
3) A is true, but R is false 4) A is false, but R is true.
32.  Who was known as Iron man of India ? [ ]
1) Givind Ballash Pant 2) Jawaharlal nehru
3) Subhash Chandra Bose 4) Sardar Vallabhbhai Patel
33. Arrange the following tributaries of Indus from south to north [ ]
i) Beas ii) Ravi iii) Chenab
1v) Jhelum v) Sutlej
1) v, ii, i, iii and iv 2)1, i, iii, ivand v 3) v, 1, ii, iii and iv 4)iv,iii, ii,iand v
34.  According to 2001 Census, the most populated city in India is [ ]
1) Delhi 2) Mumbai 3) Chennai 4) Kolkata
35. According to Supreme Court, which of the following in the Indian Constitution should not be
changed under any circumstances? [ ]
1) Form of the government i1) Supremacy of the Constitution
ii1) Boundary line between two states iv) Federal character
1)1, 11 and iii 2)ii, iii and iv 3)1,ii and iv 4)1,1i, iii and 1v J
www.intso.co.in 4




36.

37.
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42.
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44.

45.

In which year was the first regular census held in India ? [ ]
1) 1921 2) 1881 3) 1911 4) 1931

The title of 'Viceroy' was added to the office of the Governor - General of India for the first time

in [ 1

1) 1848 AD 2) 1856 AD 3) 1858 AD 4) 1862 AD

At present, Shri Radha Mohan Singh's portfolio in union cabinet is [ ]

1) Railways 2) Agriculture

3) Human Resource Development 4) Tribal affairs

Intensity of temperature depends on the [ ]

1) Clear sky 2) latitude 3) Longitude 4) Vegetation

The least populous district in India [ ]

1) Thane 2) Burnpur 3) Ananthapur 4) Dibang

Match the Prime Ministers with their terms of office given below

1)  Murarji Desai a) 1996 - 1997

i)  Rajiv Gandhi b) 1984 - 1989

iii) H.D. Deve Gowda C) 1989 - 1990

iv)  V.P. Singh d 1977 - 1979

Which is the correct set ? [ ]
i il v i il i iv

1) d b c a 2) d b a c

3) ¢ a b d 4) b d c

Which of the following is true regarding Constituent Assembly ? [ ]

1) The Indian National Congress was the single largest party in CA.

i1) CA had only nine women members.

ii1) Only about 20% of the population could vote in the provincial elections then.

iv) In the beginning, the Muslim League members did not attend the meetings though they joined
it later.

1) i, i1 and iii 2) ii, iii and 1y 3)i,iiand iv 4) 1, ii, iii and iv

Which of the following steps were taken by the Election Commission to conduct first general
elections in India ? [ ]

1) E.C came up with a novel idea of having symbols from everyday life to represent political
parties and candidates.

i1) E.C alloted separate ballot box with the symbol stuck outside.

iii) E.C conducted a massive campaign to encourage the voters to go out and vote

iv) E.C provided vehicles to bring the voters to polling booths.

1)1, ii and iii 2) ii, iii and iv 3)1,ii and iv 4) 1, 1i, iii and iv

Which of the following pairs are correctly matched ? [ ]
a) Warren Hastings - Regulating Act

b) Cornwallis - Permanent Land Settlement

c) Wellesley - Subsidiary Alliance

d) Dalhousie - Abolition of Sati

I)a,c 2)a,b,d 3)a,b,c 4)b, d

The present Chief Minister of Tamil Nadu ? [ ]
1) Shri O. Pannir selvam 2) Shri. A. T. Pannir Selvam

3) J. Jayalalitha 4) M. Karunanidhi
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The difference between the temperature of day and night and that of summer and winter is not

much. This is known as [ ]
1) Continental climate 2) Equable climate

3) Extreme climatic conditions 4) Hot climate

This is not the cause for American Civil Rights Movement [ ]

1) Segregation of blacks and whites in schools, buses
2) Blacks were discriminated in appointments, housing
3) Blacks were given voting rights

4) Blacks were not treated equally with whites

Who are the winners in 2015 - Wimbledon Championships - Women’s Doubles ? [ ]

1) Andrea Hlavackova - Lucie Hradecka 2) Martina Hingis - Sania Mirza

3) Caroline Garcia - Katarina Srebotnik 4) Ekaterina Makarova - Sania Mirza

What is the total population of India according to 2011 census ? [ ]

1) 102. 7 Crores 2) 121 Crores 3) 126 Crores 4) 120 Crores

Which of the following challenges were faced by Lal Bahadur Shastri ? [ ]

1) Anti- Hindi agitation i1) Shortage of food

ii1) War with Pakistan iv) Raise of oil prices

1)1, 11 and iii 2) ii, iii and iv 3)1,ii and iv 4)1,1i, iii and 1v
OO Ce——
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